DAY 2 :: Task 3 :: Solution 
This problem belongs to the family of string matching problems. The task is to count the different appearances of a chosen word along all distinct parts of paths of a tree structure that contains text in its edges. To solve the problem one should traverse the tree (not necessarily by building it) and use a string matching algorithm. In a brute force algorithm one scans the text that the path forms, while in an optimal solution the KMP algorithm can be used and in both cases identifies occurrences of the word to be counted. 

